Data - Scattergraphs

Q1
The scatter graph shows some information about the number of umbrellas he sold and the
rainfall, in cm, each month last year.
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Rainfall in cm
In January of this year, the rainfall was 6.1 cm.
During January, Mr Wither sold 32 umbrellas.
(a) Show this information on the scatter graph.
1
(b) What type of correlation does this scatter graph show?
@
In February of this year, Mr Wither sold 40 umbrellas.
(c) Estimate the rainfall for February.
............................... cm

@)



Data - Scattergraphs
Q2

The scatter graph shows some information about 10 cars.
It shows the time, in seconds, it takes each car to go from 0 mph to 60 mph.
For each car, it also shows the maximum speed, in mph.
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(a) What type of correlation does this scatter graph show?

--------------------------------------------------

(0))
The time a car takes to go from 0 mph to 60 mph is 11 seconds.
(b) Estimate the maximum speed for this car.
........................................ mph



Data - Scattergraphs

Q1
The scatter graph shows some information about the number of umbrellas he sold and the
rainfall, in cm, each month last year.
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In January of this year, the rainfall was 6.1 cm.
During January, Mr Wither sold 32 umbrellas.
(a) Show this information on the scatter graph.
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(b) What type of correlation does this scatter graph show?
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In February of this year, Mr Wither sold 40 umbrellas.

(c) Estimate the rainfall for February.
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Data - Scattergraphs
Q2
The scatter graph shows some information about 10 cars.
It shows the time, in seconds, it takes each car to go from 0 mph to 60 mph.
For each car, it also shows the maximum speed, in mph.
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(a) What type of correlation does this scatter graph show?
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The time a car takes to go from 0 mph to 60 mph is 11 seconds.
(b) Estimate the maximum speed for this car.
............... IZZ mph
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